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BLM 7-4
Section 7.1 Extra Practice
1. Evaluate. 5. Determine the value of each absolute value
a) | —42| expression.
b) ) a) [(_2)3_2%
3 ZEHRR)
¢) [3.75] 4 4
5 2 5}
12 ‘ ¢) |5 — -8 =
03 EERE
2
: d) (|3°-4°
2. Order each set of numbers from least to )l Y
greatest, 6. Determine the distance between the
a)|—4|, (4.5, [-3.9],|-3|,|—4.1| specified values.
b |-8-SH-&L S S RIS G SRR AR
5 1o’ 15| 20|25
- -3 0 6 8
3. Order each set of numbers from greatest to a) Aand C
least. b) A and E
a) mzi,—|1.21,1—§', ~0.6],]-2.1] ¢) Dand B
4 3 d)E and C
b 46 73 1 2 5 1 , .
) 2PN T Rm TGl T4 7. Determine the distance between the
specified values,
4. Evaluate each expression. A B C D E
PR WY G N G R IV B SR B
a) |~4 — 10} Tttt T Y T TrT1Tt1
by 13 - 5(7)| cooh
a) Aand C
(-2 +|-3
9 S(1-20)+|-3] by F and B
d)suf‘-n ¢) Cand D
3 d)B and D
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Sect_ion 7.3 Extra Practice

1. Solve each absolute value equation. 7. Given the equation |x* — 4| = &, determine
Verify the solution. the value of & for each situation.
a)|x+1]=2 bix-3/+1=0 a) There is one solution only.

x b) There are two solutions.

¢) |2x] =5 d)|=|=0

¢) There are three solutions.

d) There are four solutions,
2. Determine whether x = 1 is a solution to .
each equation. 8. Mark and Chloe each solve {x — 12] = x*.

Mark solves the equation algebraically,

a)2[x-5|=8 while Chloe solves the equation graphically.
b)[3x-2{+6=12 Who is correct? Explain your reasoning.
¢)|-2x—-3i{=5 Mark’s solution:
d)3|2x - 2{=0 |x—12] =¥
.2 B 2
3. Solve each absolute value equation ¥=12=x or—x+12=x
algebraically. : 0=x*—x+12 0=x*+x-12
a) |x~ 5| =3x+4 No solution 0=(x-4)x+3)
b) [3m + 2| =m x=4o0rx=-3
&) |-x+5=x-5 Chloe’s solution:
d)[2n]=3n—8§ wt?
)I2n] e\ (4, 16 )
4. Solve each equation. :
W) [ 2= 1 \\‘“‘fjliizl
b) | — 3x| = 4 . /{3,9)

y=x
¢) 8=10.5x" + 3x| k \ T
d)3 =] —4x" + 8x| \ !
"

S. Solve each absolute value equation. 5 ?
a) |4x|=x"—5 » i
b) 2x* = | 5% + 3 '
)2x =] s | 9. Evanka graphed the functions f(x)= < and
€) |2x—4) - 5|=3 ‘ 2.
d)0=|x?-2x- 3|4 g2(x)= [—x2 + 2| on the same set of axes.
a) How could she use the graph to
6. Determine whether x = 2 is a solution to x
: solve |—x*+2{-==0?
each equation. 5 f
a)x+1={x" -1 ‘b) State the solution. Express the solution to
b)|%* - 3x]=3x~8 the nearest hundredth.

) 20~ 4 — 6 =0.5x + 1
d)|x+2] - 3=—4x"+8x+5
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Section 8.1 Extra Practice

1. Verify that (1, —3) and (4, 0) are solutions to

the following system of equations,

X —dx—y=0
x-y-4=0

2. Use the graph to solve the system of
equations. Then, write the system of
equations represented in each graph,

a) 3 YA
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3. Solve each system of equations by graphing,

Express answers to the nearest whole units.
Verify your solutions.

a)x’ —4x—3y=>5

x=2

b) y=(x2)x—7)
y=x-7

¢) 0=x—-2y+10
y=—1(x—3) +4

d) 2% — 5x — y = —1
Tx+y=1

4. Solve each system of equations by graphing,

Express answers to the nearest hundredth.

a) x" + 8x - y=-12

xzﬁy=8
b) y=2x"~x+1
y=x"+9x -8

¢) y=5-10x+5
y=—x"=3x+10
dy y=3(x+4Y -2
y=-20(x+3y-2

5. When the cost to produce 7 items is equal to

the revenue from selling # items, this is
called the breakeven point. If the cost is
$100 plus a variable cost, the function is
C(n) =100 + (2 - 0.01m)n. The selling price
is $2.50 per unit. The revenue function is
R(n) = 2.50n. Determine the breakeven
point graphically, to the nearest whole
number of units.

6. The ages of Max and his father add up to

35 years. Max’s father’s age is the same as
five more than the square of Max’s age.

a) Write a system of equations to represent
this situation. Define your variables.

b) Solve the system graphically. Are all
possible solutions meaningful? Explain.

¢) How old are Max and his father?
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Section 8.2 Extra Practice

1. Verify that (=1, 11) and (2, 5) are solutions 6. Consider the following system of equations.

to the following system of equations.
Zx+y=9

2% — dx — y=-5

. Verify that (—1, ~4) is a solution to the
following system of equations.
y=x+2x-3

y=—x'—2%—5

. Solve each system of equations by
substitution, Verify your solutions.

ayy=2x+1
y=x"—5x+13
b)3x+y—-4=0

2x2m4x—y—2m0
¢) y=—x"—3x+ 14
y=3x"+5x- 18
d)4x+y+ 5=
x" = Sx + 2y
. Solve each system of equations by
elimination,
a) 3% + x — 3y = -8
x+3y=9
b)y=2x"—x+1
2y=2%" -x-1
¢) x+oy=12

- ) 5
—Xx+_x+y=2
2 3 Y

d)x +y=4x+5
1 2
Sx+—y=
Xtoy=x
. Solve each system of equations

algebraically. Round answers to the
nearest hundredth.

1 , 2
aj y=—x"+—-x
Yy 3 3

3y=2x"+3x-1
b) X+ 5x—y=6
2 —x—y=-3
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X+ bx+y+k=0

Ix+y+k=0

a) Determine the value of & if a solution
is (-3, 2).

b) Determine the second solution,

. Consider the following system of equations.

y=x"—2x~-3

v=k

Determine the value of £, if the system has
a) two solutions

b) one solution

¢) no solution

. A parabola’s vertex is at (-4, 4) and one of

its x-intercepts is at (—6, 0). A second

parabola’s vertex is at (1, ~9) and its

y-intercept is at (0, —8).

a) Determine the equations of the
parabolas.

b} Solve the system of equations to
determine the point(s) of intersection.

. Consider the given rectangle,

3x

X+5

The perimeter is equal to y, and the area
is equal to 3y.

a) Determine equations to represent the
perimeter and area.

b} Solve the system of equations
algebraically.

¢) Are both solutions possible? Explain.

d) State the value of x, the perimeter, and
the area.
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